
14

13

19

2

7

6

18

8

9

20

8

17

8
21

11

8

3

16

1

5

15

10

10

22

128
21

Pos. Anzahl Art. Nr. Ersatzteilnahme

1 2 BBTFL101 Flacheisen

2 1 BBTFL102 Klemmstück

3 4 BBTFL103 Senkschraube M8 x 15

4 4 BBTFL104 Antirutschband

5 2 BBTFL105 Massskala

6 1 BBTFL106 Anschlagwinkel

7 1 BBTFL107 Handschraube M8 x 25

8 13 BBTFL108 U-Scheibe 8.4 x 16 x 1.6

9 2 BBTFL109 Flansch

10 16 BBTFL110 Senkschraube M4 x 10

11 2 BBTFL111 Spannhebelschraube M8

Pos. Anzahl Art. Nr. Ersatzteilnahme

12 2 BBTFL112 Wendeschiene

13 2 BBTFL113 Schieberklemme

14 4 BBTFL114 Schiebestange

15 2 BBTFL115 Skalahalter

16 4 BBTFL116 Zylinderstift 6 x 16

17 2 BBTFL117 Justierschieber

18 2 BBTFL118 Justierschraube

19 2 BBTFL119 Kunststoffschieber

20 4 BBTFL120 Senkschraube M4 x 20

21 7 BBTFL121 Zylinderschraube M8 x 16

22 2 BBTFL122 Hauptschiene
Treppenfräslehre TFL-70


	Ersatzteilliste TFL 70.pdf

